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QUESTION 1

You host a multitenant data center that runs VMware. You must perform deep packet inspection on all inter-tenant traffic
that is flowing between the VMs within the same hypervisor. Your solution must provide the security services without
needing to leave the physical device.

In this scenario, what should you do to solve this problem?

A. Use separate vSwitches to isolate each tenant\\'s networks and use IP tables to evaluate inter-tenant traffic.

B. Use VLANS to isolate each tenant\\'s networks and use an SRX Series device to evaluate inter-tenant traffic.

C. Use a vMX device to isolate each tenant\\'s networks and use with firewall filters to evaluate inter-tenant traffic.

D. Use separate vSwitches to isolate each tenant\\'s networks and use a vSRX Series device to evaluate inter-tenant
traffic.

Correct Answer: D

QUESTION 2

Which EVPN route type prevents BUM traffic from looping back to a multihomed host?
A. IP prefix route

B. Ethernet autodiscovery route

C. Ethernet segment route

D. inclusive multicast-Ethernet tag route

Correct Answer: B

QUESTION 3
An EVPN-signaled VXLAN overlay has been deployed in the network shown in the exhibit. Host1 is a bare metal server,

and is dual-homed to the network. The IP addresses 10.1.1.1/24 and 10.1.1.2/24 are assigned to the same physical
NIC, and no virtualization is configured on the server.
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In this scenario, which two statements are true? (Choose two.)

A. The MAC address associated with 10.1.1.1/24 and 10.1.1.2/24 will be the same when advertised to leaf3.
B. The connection from hostl to devices leafl and leaf2 must be configured as a LAG.

C. Traffic from IP address 10.1.1.1/24 must traverse the VXLAN network to reach IP address 10.1.1.2/24.
D. The ESI assigned to the leafl-hostl link must be the same as the ESI assigned to the leaf2-hostl link.

Correct Answer: BD

QUESTION 4

What is the endpoint of a VXLAN tunnel?
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A. DLCI
B. VTEP
C.LSR
D. VCF

Correct Answer: B

QUESTION 5

Your colleague has begun working on the base configuration for an active-active multihomed EVPN connection shown

in the exhibit.

PE1l

set interfaces ge-0/0/4
set interfaces ge-0/0/4
ethernet-services

set interfaces ge-0/0/4

00:00:00:00:00:00:00:00-:

set interfaces ge-0/0/4
set interfaces ge-0/0/4
vlan-bridge

set interfaces ge-0/0/4

PEZ2
set interfaces ge-0/0/4

set interfaces ge-0/0/4
ethernet—-services

set interfaces ge-0/0/4

00:22:44:66:88:00:22:44:

set interfaces ge-0/0/4
set interfaces ge-0/0/4
vlan-bridge

set interfaces ge-0/0/4

vlan-tagging
encapsulation flexible-

esi
00:00

esi all-active
unit 0 encapsulation

unit 0 wlan-id 300

vlian-tagging
encapsulation flexible-

esi

66:88

esli single-active
unit 0 encapsulation

unit 0 vlan-id 300

Which two actions will ensure a successful implementation? (Choose two.)

A. Change the ESI mode on PEL1 to single-active.

B. Change the ESI mode on PE2 to all-active.
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C. Change the ESI value on the PE2 device to 00:00:00:00:00:00:00:00:00:00.
D. Change the ESI value on the PE1 device to 00:22:44:66:88:00:22:44.:66:88.

Correct Answer: BD
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